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CHAPTER: 3. SUBTRACTION 

I. Fill in the blanks using subtraction facts. 

a. 21 - 12 = ____ 

b.19 - 8 = _____ 

c.18 - 6 = _____ 

d. 22 - 11 = _____ 

e.19 – 10 = _____ 

f.10 – 0 = _____ 

II. Count back from one number to another number to solve the Subtraction 

equations. 

a. I can count back 5 from 15. 

 

15 … _____   _____    _____   ______   ______ 

 

15 – 5 = ______ 

 

    b. I can count back 6 from 42. 

       42 … _____   _____    ______   ______    _____   _____ 

       42 – 6 = ______ 

 

    c. I can count back 9 from 74. 

       74... ____  ____  _____  _____   _____   _____   _____   _____    _____ 

       74 – 9 = ______ 

 



  

III. Subtract by using number line. 

A. 66 – 8 = ______   

 

 

 

B. 85 – 7 = _____ 

 

  

IV. Solve the following. 

a. 10s   1s                              b. 10s     1s 

  3     9                                     5       4 

-1      6                                -    3       5 

_______                             __________ 

 

_______                             __________ 

 

c. T      O                                  d.  T      O 

    6      0                                        3       2 

-       8                                   -             7 

________                                __________ 

     ________                               ___________ 

 

  e.   T       O                                    f.   T    O 

  7        0                                         8     5 

  -     5       5                                  -      2    9 

____________                             ___________ 

____________                            ____________ 

 

 

50 51 52 53 54 55 56 57 58 59 60 61 62 63 64 65 66 

75 76 77 78 79 80 81 82 83 84 85 86 87 89 90 



  

V. Subtract then check your answer with addition. 

                                                                       CHECK 

a.   8       1            

-     3       0 

  __________ 

  __________ 

 

 

b.       9         6                                          CHECK 

 

- 4         2   

__________ 

__________                         

 

 

VI. Solve the word problem. 

 Ben has 74 crayons. He gives 25 of them to Jen. How many crayons are left with 

Ben now? 

Sol:                      
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